He==—=—
SK... d1 1 o t1 ul v1 w1 T x1 =
SK 92072 14 40 109 16 5 4 32 M5 3,5 | 1 D56-D57
SK 92172 14 40 109 16 5 4 32 M5 3,5 | @0 D58-D59
SK 92372 16 40 109 18 5 4 32 M5 3,5 | @0 D60-D61
SK 92672 19 40 110 21 6 4 32 M5 3,5 | @0 D62-D63
SK 92772 24 50 122 27 8 5 40 M8 2,5 | L D64-D65
SK...-IEC ...
T 8 jv
S i
IEC a b d e f 1 o s t u
63 140 95 11 115 | 3,5 23 85 M8 | 12,8 4
7 160 | 110 14 130 | 4,0 30 85 M8 | 16,3 5
80 200 | 130 19 165 | 4,0 40 [102,5| M10 | 21,8 6
90 200 | 130 24 165 | 4,0 50 [102,5| M10 | 27,3 8
100 250 | 180 28 215 | 5,0 60 [125,5| M12 | 31,3 8
112 250 | 180 28 215 | 5,0 60 [125,5| M12 | 31,3 8
132 300 | 230 38 265 | 5,0 80 175 | M12 | 41,3 | 10
D102 G1000 www.nord.com



SK...-W

SK...-IEC ...

I~

SK9012.1 =[J D66-D67
SK 9013.1 =[J D68-D69
SK 9016.1 =[] D70-D71
SK 90171 =[J D72-D73
SK 9022.1 =[J D74-D75
SK 9023.1 =[J D76-D77
SK 9033.1 =[J D80-D81

™~ o v
- (] S5
o]

S )

IEC a b d e f 1 o s t u
63 140 95 11 115 3,5 23 85 M8 12,8 4
71 160 110 14 130 4,0 30 89 M8 16,3 5
80 200 130 19 165 4,0 40 105 M10 21,8 6
90 200 130 24 165 4.0 50 105 M10 27,3 8
100 250 180 28 215 5,0 60 130 M12 31,3 8
112 250 180 28 215 5,0 60 130 M12 31,3 8

www.nord.com G1000 D103



SK ...

SK ...

-1EC ...

lor

27

SK 9032.1 =0 D78-D79
SK 9043.1 =[] D84-D85
SK 9053.1 =0 D88-D8Y
SK9072.1/32 | [0 D100

T g I

S o1

S I
IEC a b d e f 1 o s t u
4 160 110 14 130 4,0 30 88 M8 16,3 5
80 200 130 19 165 4,0 40 107 M10 | 21,8 6
90 200 130 24 165 4,0 50 107 M10 | 27,3 8
100 250 180 28 215 50 60 124 M12 31,3 8
112 250 180 28 215 50 60 124 M12 31,3 8
132 300 230 38 265 5,0 80 156 M12 | 41,3 10

D104 G1000 www.nord.com



SK...-W

SK...-IEC ...

213

30
e — |
8
=
70 5 41
T
<
le—— ® Jr,i,,
N =
M12
SK 9042.1 =[J D82-D83
SK 9052.1 =[J D86-D87
SK 9072.1/42 =[J D100
SK 9082.1/42 =L D100
SK 9082.1/52 =[J D100
SK 9086.1/52 =[J D100
SK 9092.1/52 =[J D100
SK 9096.1/63 =[J D101

= O

<

o]

2
IEC a b d e f 1 o s t u
90 200 130 24 165 4,0 50 109 M10 27,3 8
100 250 180 28 215 5,0 60 133 M12 31,3 8
112 250 180 28 215 5,0 60 133 M12 31,3 8
132 300 230 38 265 5,0 80 190 M12 41,3 10
160 350 250 42 300 6,0 110 194 M16 45,3 12
180 350 250 48 300 6,0 110 194 M16 51,8 14

www.nord.com G1000 D105



SK...-W

45

SK 9072.1 = [ D90-D91
SK 9096.1/62 = D101
SK...-IEC ...
Je
@s
t
— =
T
A
TN
M~
T g , HENEAN
o] i
S T )
. o/
BN
IEC 100 - 200 IEC 225
IEC a b d e f | o s t
100 250 180 28 215 5,0 60 127 M12 31,3
112 250 180 28 215 5,0 60 127 M12 31,3
132 300 230 38 265 5,0 80 177 M12 41,3 10
160 350 250 42 300 6,0 110 266 M16 45,3 12
180 350 250 48 300 6,0 110 266 M16 51,8 14
200 400 300 55 350 6,0 110 229 M16 59,3 16
225 450 350 60 400 6,0 140 303 M16 64,4 18
D106 G1000 www.nord.com



SK...-W
SK 9082.1 =0 D92-D93
SK 9086.1 =[] D94-D95
SK 9092.1 =[] D96-D97
H07<1]5 69
'€
[le] e |
1S : -
M20
SK 9096.1 = D98-D99
110 15 745
[<e}
E ]
S 6 S
\J
SK ... -1EC ...
e
Js
t
— =
LT
T
22BN
M~
T é > ,Ll,\i R
0 v
S T e
\ 4
BN
IEC 132 - 200 IEC 225 - 315
IEC a b d e f | o s t u
132 300 230 38 265 5,0 80 177 M12 41,3 10
160 350 250 42 300 6,0 110 266 M16 45,3 12
180 350 250 48 300 6,0 110 266 M16 51,8 14
200 400 300 55 350 6,0 110 229 M16 59,3 16
225 450 350 60 400 6,0 140 303 M16 64,4 18
250 550 450 65 500 6,0 140 | 303,5 | M16 69,4 18
280 550 450 75 500 6,5 140,5 | 303,5 | M16 79,9 20
315 660 550 80 600 7,5 170,5 | 381,5 | M20 85,4 22
www.nord.com G1000 D107



Qe
b1 6

SK9012.1 VZ - SK 9052.1 VZ

| x| T
w__|v
£
'6 < P f b i
& % t =
\
SK 9072.1 VZ - SK 9096.1 VZ % %

+ = [ A45 a1l b1 el f1 s1 m1 d | t u v w X T
SK 92072 vz | 102,5 70 85 2,5 M8 x 13 52,5 20 40 22,5 6 4 32 3 M6
SK 92172 vz 120 80 100 8 M6 x 13 62 20 40 22,5 6 5 32 4 M6
SK 92372 vz 140 95 115 3 M8 x 13 75 25 50 28 8 5 40 6 M10
SK 92672 vz 140 95 115 ) M8 x 13 78 30 60 88 8 5 50 4 M10
SK 92772 vz 160 110 130 4 M8 x 13 87 35 70 38 10 5 60 5 M12
SK 9012.1 vz
SK 9013.1 vz 140 98 115 & M8 x 13 68 30 60 33,0 8 5 50 4 M10
SK 9016.1 vz
SK 9017 1 VZ 140 95 115 3 M8 x 13 68 35 70 38,0 10 5 60 4 M12
SK 9022.1 vz
SK 90231 vz 160 110 130 4 M8 x 13 82 85) 70 38,0 10 ® 60 & M12
SK 9032.1 vz
SK 9033.1 VZ 200 130 165 3 M10 x 16 97 45 90 48,5 14 5 80 6 M16
SK 9042.1 vz -

SK 9043.1 VZ 250 180 215 7 M12x20 | 108 60 120 64,0 18 10 100 5 M20
SK 9052.1 vz "

SK 9053.1 VZ 300 230 265 4 M12 x 20 141 70 140 74,5 20 15 110 6 M20
SK9072.1 vz

SK 9072.1/32 VZ 350 *250 300 5 M16x25 | 165 *90 170 95,0 25 15 140 7 M24
SK9072.1/42 VzZ

SK 9082.1 vz

SK 9082.1/42 VZzZ 400 *300 350 7 M16 x 25 195 | *110| 210 116 28 15 180 8 M24
SK9082.1/52 VzZ

SK 9086.1 vz * o

SK 9086.1/52 VZ 450 350 | 400 7 M20 x 30 | 235 120 | 210 127 32 15 180 8 M24
SK 9092.1 vz * *

SK 9092.1/52 VZ 450 350 400 7 M20 x 30 | 288 140 | 250 148 36 15 220 10 M24
SK 9096.1 vz

SK 9096.1/62 VZ 550 *450 500 6,5 M24 x30 | 320 | *190| 320 200 45 10 300 | 10,5 | M30 x 60
SK 9096.1/63 VZ

D108 G1000 www.nord.com



SK ... VXZ

el £1
@ =
1y — ® ® =
| 1 7h < 8
o]
(]

%

£ o[l Ad5 at b1 el 1 X s m1 d I
Shkonal  VXZ1 o 410 75 100 4 4 M8 x13 71 30 60
Shoisl VX2 110 75 100 4 4 M8 x 13 71 35 70
SKo022t  VXZ | 425 90 115 4 4 M8 x 13 86 35 70
SK 90321 (¥XZ [N, 150 100 130 5 8 M 10 x 16 100 45 9
koot VXZ| 180 125 165 5 5 M 12 x 20 115 * 60 120
SKISZR Y VXZ | 55 150 194 8 6 M 12 x 20 145 70 140

SK 9053.1 VXZ

SK 9072.1 VXZ
SK 9072.1/32 VXZ 250 180 215 5 7 M 12 x 20 170 *90 170
SK 9072.1/42 VXZ

SK 9082.1 VXZ
SK 9082.1/42 VXZ 300 230 265 5 8 M12 x 20 200 *110 210
SK 9082.1/52 VXZ

SK 9086.1 VXZ

SK 9086.1/52 VXZ 350 250 300 5 9 M 16 x 25 238 *120 210

SK 9092.1 VXZ

SK 9092.1/52 VXZ 400 290 350 5 10 M 20 x 30 295 140 250

SK 9096.1 VXZ
SK 9096.1/62 VXZ 450 310 400 5 10,5 M 20 x 30 326,5 *190 320
SK 9096.1/63 VXZ

www.nord.com G1000 D109



SK ... VXF

mF i2
Qe mf m1
s1 - I

@d
=

&
|
©

+ = A45 al b1 ci el f1 s1 i2 m1 mF d |
SK 9012.1 VXF

SK 9013.1 VXE 160 110 12 130 35 9 34 71 101 30 60
SK 9016.1 VXF 44

SK 90174 vxh 160 110 12 130 3,5 9 24 71 101 35 70
SK 9022.1 VXF

SK 9023.1 VXF 200 130 12 165 35 11 39 86 121 35 70
SK 9032.1 VXF

SK 9033.1 VXF | 250 180 16 215 4,0 13,5 56 100 140 45 90
SK 9042.1 VXF .

SK 9052.1 VXF . .

SK 9053.1 VXE 350 250 20 300 5,0 17,5 86 145 205 70 140
SK 9072.1 VXE

SK 9072.1/32 VXF 400 *300 20 350 5,0 18 112 170 235 *90 170
SK 9072.1/42 VXF

D110 G1000 www.nord.com



AZVSH

SK ... AZVSH =011 A22-23

7
‘@dH H7
@D
OHB
=

hHB

mHB

2405
| |

N

L

+ =M A45 D dH d 1B IH mH xH hHB HB mHB

SK 90721 AZVSH
SK9072.1/32 AZVSH 120 95(85) 95(85) 80 110 464 5 147 258 487
SK 9072.1/42 AZVSH

SK9082.1 AZVSH
SK9082.1/42 AZVSH 140 110 110 80 160 587 8 208 306 613
SK9082.1/52 AZVSH

SK 9086.1 AZVSH

SK 9086.1/52 AZVSH 160 130 130 80 170 674 8 235 364 720

SK 9092.1 AZVSH

SK 9092.1/52 AZVSH 200 150 150 100 130 754 10 235 364 828

SK 9096.1 AZVSH
SK9096.1/62 AZVSH 200 160 155 95 229 904 10,5 272 455 929
SK9096.1/63 AZVSH

www.nord.com G1000 D111



SK ... AXZH SK ... AZH

hHB hHB
—1

& 19 | ¢
{
SK ... AZH66
SK ... AXH66
+ o[ A45 hHB mHB . / \

SK 92072 AZH 34 86,5 / .
SK 92172 AZH 37 99 g \
SK 92372 AZH 42 117 / é '
SK 92672 AZH 42 120 (
SK 9012.1 AXZH 37 108
SK 9012.1 AZH 42 110 !
SK 9013.1 AXZH 37 108 \ ’
SK 9013.1 AZH 42 110 /
SK 9016.1 AXZH 37 108 ,
SK 9016.1 AZH 42 110 /
SK 9017.1 AXZH 37 108 .
SK 9017.1 AZH 42 110 AN
SK 92772 AXZH - - T
SK 92772 AzZH 44 131
SK 9022.1 AXZH 42 128 =Ll A45 2D L
gﬁ gggg': Q)Z(QH 1‘21' ]gg SK 9012.1 AXH66  SK 9013.1 AXH66 80 25
SK 90231 AZH 44 126 SK 9012.1 AZH66  SK 9013.1 AZH66 85 28
SK 9032.1 AXZH 44 144 SK 9016.1 AXH66 SK 9017.1 AXH66 80 25
SK 9032.1 AZH 47 144 SK 9016.1 AZH66 SK 9017.1 AZH66 85 28
gﬁ gggg'l ﬁ)z(ﬁH 2‘71 132 SK 9022.1 AXH66  SK 9023.1 AXH66 95 30

- SK 9022.1 AZH66  SK 9023.1 AZH66 104 34
SK 9042.1 AXZH 45 160
SK 9042.1 AZH 55 163 SK 9032.1 AXH66 SK 9033.1 AXH66 104 34
SK 90431 AXZH 45 160 SK 9032.1 AZH66  SK 9033.1 AZH66 115 35
SERN31 AZH o9 L SK 9042.1 AXH66  SK 9043.1 AXH66 104 35
SK 9052.1 AXZH 47 192 SK 9042.1 AZH66  SK 9043.1 AZH66 145 38
SK 9052.1 AZH 60 201
SK 90531 AXZH 47 192 SK 9052.1 AXH66  SK 9053.1 AXH66 156 38
SK 90531 AZH 60 201 SK 9052.1 AZH66  SK 9053.1 AZH66 188 44
SK 9072.1 AXZH 53 223 SK 9072.1 AXH66 188 44
SK 9072.1 AZH 62 227 SK 9072.1 AZH66 188 44
SK 9082.1 AXZH 60 260 SK 9082.1 AXH66 245 50
SK 9082.1 AZH 65 260 SK 9082.1 AZH66 260 54
SK 9086.1 AXZH 53 291 SK 9086.1 AXH66 260 54
SK 9086.1 AZH 84 315 SK 9086.1 AZH66 315 50

D112 G1000 www.nord.com



SK ... AFVL =L1A30
H7 dd ne
DdH o >
[
L
T
&
L
I \
H7
DdH = —
Ddne
+ o[ A5 a b c e f h3 s g dH uH tH mH | dHH7 | |H
SK9012.1 AF..
SK90131 AF. | 200 | 130 | 12 165 | 3,5 75 | 4x11 | M12x15 | 35 10 | 383 | 218 35 50
SK9016.1 AF..
SK90171 AE. | 200130 | 13 165 | 3,5 75 | 4x11 | M12x15 | 35 10 | 385 | 218 40 50
SK9022.1 AF..
SK90231 AF. | 250 | 180 | 16 | 215 | 40 86 | 4x135 | M12x15 | 40 12 | 433 | 258 40 60
SK 9032.1  AF..
SK90331 AE. | 300 | 230 | 20 | 265 | 40 85 | 4x14 | M12x15 | 50 14 | 538 | 287 50 70
SK9042.1 AF.. .
SK90431 AF. | 350 | *250 | 20 | 300 | 50 |1345| 4x18 | M12x15 | 60 18 | 64,4 | 3625 | 60 80
SK 9052.1 AF.. .
SK90531 AF. | 400 | 300 | 22 | 350 | 50 | 166 | 4x18 | M24x15 | 70 20 | 74,9 | 457 70 100
SK9072.1 AF..
SK 9072.1/32 AF.. | 450 | *350 | 24 | 400 | 50 | 184 | 8x18 | M24x15 | 80 22 | 854 | 524 80 120
SK 9072.1/42 AF..
SK 9082.1 AF..
SK 9082.1/42 AF.. | 550 | *450 | 28 | 500 | 50 | 210 | 8x18 | M30x2 | 110 | 28 |1164 | 615 | 110 | 140
SK 9082.1/52 AF..
SK 9086.1 AF.. .
SK 9086.1/52 AF.. | 660 | *550 | 32 | 600 | 60 | 262 | 8x22 | M30x2 120 | 32 |1274| 747 | 120 | 160
www.nord.com G1000 D113



SK...VFVL =011A30
|
2 9 \ =
L V I N i =
ol ] T ﬁg
@s ‘ z[
= .
|
[ |
I 7 |
dd | kb (*m6
[—— —
0o j6 (*h 6)
L Je |
L Ja |
+ o A45 a b c e f h3 s g d | t u v w T
SK 9012.1 VF..
SK 90131 VFE. 200 130 12 165 3,5 75 4x11 | M12x1,5 30 60 33,0 8 5 50 M10
SK 9016.1 VF..
SK 90171  VF.. 200 130 12 165 S5 P5 1 M12 x 1,5 S5 70 38,0 10 7 56 M12
SK 9022.1 VF..
SK 90231 VE.. 250 180 16 215 4,0 86 |4x13,5| M12x1,5 35 70 38,0 10 7 56 M12
SK9032.1  VF..
SK 90331 VF. 300 230 20 265 4,0 85 4x14 | M12x 1,5 45 90 48,5 14 5 80 M16
SK 9042.1 VF.. \ .
SK 9043 1 VF.. 350 250 20 300 50 |134,5| 4x18 | M12x 1,5 65 130 69,0 18 15 100 M20
SK 9052.1 VF.. . .
SK 9053.1 VF.. 400 300 22 350 5,0 166 4x18 | M24x1,5 75 140 79,5 20 7,5 125 M20
SK 9072.1 VF..
SK 9072.1/32 VF.. | 450 | *350 24 400 5,0 184 8x18 | M24x1,5 | *90 170 95,0 25 15 140 M24
SK 9072.1/42 VF..
SK9082.1 VF..
SK 9082.1/42 VF.. | 550 | *450 28 500 5,0 210 8 x18 M30 x 2 *110 | 210 | 116,0 | 28 15 180 M24
SK 9082.1/52 VF..
SK 9086.1  VF.. . .
SK 9086.1/52 VF.. 660 550 32 600 6,0 262 8 x22 M30 x 2 120 | 210 | 127,0 32 15 180 M24
SK 9092.1 VF.. . .
SK 9092.1/52 VF.. 660 550 32 600 6,0 262 8 x22 M30 x 2 140 | 250 | 148,0 | 36 25 200 M24
SK 9096.1 VF..
SK 9096.1/62 VF.. | 660 | *550 35 600 8,0 302 8 x 26 M30 x 2 *190 | 320 | 200,0 | 45 10 300 | M30x60
SK 9096.1/63 VF..
D114 G1000 www.nord.com



AFSHVLZ2
AFSHVL3

SK ... AFSHVL =011 A30
H7
@d he @dH
— — — —
L N | A
- N ‘ N| -
|
\
T CID T — — — —
gl ¥ ¢ &
as)
— — — —
0d pg pdH 7
+ o[ A45 a b c e f h3 s g dH/d | mHB mH 1B IH
SK 90121  AFSH..
SK90131 AFSH. 200 130 12 165 3,5 75 4x11 M12x 1,5 35 278 263 41 40
SK 9016.1 AFSH..
SK 90171 AFSH.. 200 130 12 165 8,5 75 4 x11 M12x 1,5 B35 289 263 41 40
SK 9022.1 AFSH..
SK 90231 AFSH.. 250 180 16 215 4,0 86 4x13,5 M12 x 1,5 40 319 308 41,5 44
SK 9032.1 AFSH..
SK 90331 AFSH.. 300 230 20 265 4,0 85 4x14 M12 x 1,5 50 355 337 51,5 46
SK 9042.1 AFSH.. .
SK 9043 1 AFSH.. 350 250 20 300 5,0 134,5 4x18 M14 x 1,5 60 446 4275 | 61,5 58
SK 9052.1 AFSH.. .
SK 9053.1 AFSH.. 400 300 22 350 5,0 166 4x18 M24 x 1,5 70 558 537 71 74
SK 9072.1 AFSH..
SK 9072.1/32 AFSH..| 450 *350 24 400 5,0 184 8x18 M24 x 1,5 80 629 609 81 82
SK 9072.1/42 AFSH..
SK 9082.1 AFSH..
SK 9082.1/42 AFSH..| 550 *450 28 500 5,0 210 8x18 M30 x 2 110 734 695 81 74
SK 9082.1/52 AFSH..
SK 9086.1 AFSH.. .
SK 9086.1/52 AFSH.. 660 550 32 600 6,0 262 8 x 22 M30 x 2 125 892 851 81 98
SK 9092.1 AFSH.. .
SK 9092.1/52 AFSH.. 660 550 32 600 6,0 262 8x22 M30 x 2 150 998 955 101 98
SK9096.1 AFSH..
SK 9096.1/62 AFSH..| 660 *550 35 600 8,0 302 8 x 26 M30 x 2 160/155 | 1134 | 1089 95 140
SK 9096.1/63 AFSH..
www.nord.com G1000 D115




SK...A.. =0A14

SK 9012.1 A.. - SK 9052.1 A.. SK9072.1 A.. - SK9096.1 A..

A A

B
L
-8
TN
b-
B1
&

lo

+ o[ A4S A B B1 c s
SK90121  A..
SK90131  A.. 152 60 - 35 M10 x 16
SK9016.1  A..
SK9017.1  A.. 152 60 - 35 M10 x 16
SK90221  A..
SK9023.1 A.. 152 100 - 42 M12 x 20
SK90321  A..
SK9033.1 A.. 190 110 - 55 M12 x 20
SK90421 A..
SK 90431  A.. 220 130 - 68 M16 x 25
SK90521 A..
SK 90531  A.. 217 185 - 92 M16 x 25
SK 90721  A..
SK 9072.1/32 A.. 290 190 190 100 M24 x 36
SK 9072.1/42 A..
SK90821 A..
SK 9082.1/42 A.. 430 260 260 140 M24 x 36
SK 9082.1/52 A..
SK9086.1 A..
SK 9086.1/52 A.. 430 320 320 160 M36 x 55
SK9092.1 A..
SK 9092.1/52 A.. 520 400 400 180 M36 x 55
SK9096.1 A..
SK 9096.1/62 A.. 580 440 440 220 M42 x 72
SK 9096.1/63 A..

D116 G1000 www.nord.com




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 2400
  /ColorImageDepth 8
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 2400
  /GrayImageDepth 8
  /GrayImageDownsampleThreshold 10.00000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.33333
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck true
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [4000 4000]
  /PageSize [595.000 842.000]
>> setpagedevice




